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QUESTION 1

What are two benefits of using NFS 4.1 with vSphere 6.x as compared to NFS 3? (Choose two.) 

A. NFS 4.1 supports Kerberos Authentication 

B. NFS 4.1 supports multipathing 

C. NFS 4.1 supports IPv6 

D. NFS 4.1 supports hardware acceleration 

Correct Answer: AB 

 

QUESTION 2

Refer to the Exhibit. An administrator is adding an NFS datastore as shown in the Exhibit. 

What is the purpose of the Servers to be added list? 

A. It contains the IP addresses of the NFS Storage Server to provide multipathing capability. 

B. It contains the IP addresses of the ESXi hosts that mount the datastore. 

C. It contains the IP addresses used for Dynamic Discovery of targets. 

D. It contains the IP addresses used for Static Discovery of targets. 
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Correct Answer: A 

 

QUESTION 3

An IT administrator working in a space agency has just in installed some applications that are critical for a satellite
launch mission. The administrator wants the applications to work irrespective of any operating system failure. Which
vSphere 6.x feature should the administrator use? 

A. vSphere HA 

B. vSphere Fault Tolerance 

C. vSphere Replication 

D. vSphere Data Protection 

Correct Answer: B 

 

QUESTION 4

Which three operations occur during a cold migration of a virtual machine? (Choose three.) 

A. The virtual machine disks are moved if the datastore is being changed. 

B. The virtual machine is registered with the destination server. 

C. The source virtual machine is removed from the old hosts. 

D. The virtual machine hardware is upgraded. 

E. The virtual machine files are quiesced prior to the migration. 

Correct Answer: ABC 

 

QUESTION 5

What are two ways to identify TCP/IP stack information? (Choose two.) 

A. Using the vSphere Web Client 

B. Using esxcli network ip netstack 

C. Using esxcfg-netstack 

D. Using the vSphere Client 

Correct Answer: AB 
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